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Classification Questions for Bank Exams (CGL Tier 1 &
SSC 10+2)
Classification Quiz 1

Directions: In this type of questions, certain numbers are given, out of which all
except one share some common property and hence are alike, while one is different
and this number is to be chosen as the answer.

1. Choose the number which is DIFFERENT from the rest?
A.17 B.27 C.29 D.37

2. Choose the number which is DIFFERENT from the rest?
A6 B.12 C.18 D.7

3. Choose the number which is DIFFERENT from the rest?
A.15 B.21 C.24 D.29

4. Choose the number which is DIFFERENT from the rest?
A.43 B.53 C.63 D.73

5. Choose the number which is DIFFERENT from the rest?
A.10 B.26 C.24 D. 21

6. Choose the number which is DIFFERENT from the rest?
A.29 B.53 C.8 D.125

7. Choose the number which is DIFFERENT from the rest?
A.51 B.144 C.64 D.121

8. Choose the number which is DIFFERENT from the rest?

A.49 B.90 C.109 D.125



9. Choose the number which is DIFFERENT from the rest?
A. 37 B. 45 C. 49 D. 65
10. Choose the number which is DIFFERENT from the rest?

A.27 B.125 C.343 D.64



Correct Answers:

10

Explanations:

1.

Each of the numbers except 27, is a prime number.

Hence, option B is correct.

2.

7 is the only prime number in the group.
Hence, option D is correct.

3.

Each of the numbers except 28, is divisible by 3.
Hence, option D is correct.

4.

Each of the numbers except 63, is a prime number.

Hence, option Cis correct.

5.

Each of the numbers except 21, is an even number.

Hence, option D is correct.

6.

125 is the only number in the group which is a perfect cube.

Hence, option D is correct.




7.

Each of the numbers except 51, is a perfect square.3
Hence, option A is correct,

8.

Each of the numbers except 109, is divisible by 9.
Hence, option Cis correct.

9.

49 is the only perfect square number in the group.
Hence, option Cis correct.

10.

All other numbers are cubes of odd numbers whereas 64 is a cube of an even
number.

Hence, option D is correct.
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